
Addition and subtraction word problems 

 

1) Mike has 4 toys and Jack has 4 toys. How many toys do 

they have in total? 

2) Ben has 5 lolly-pops and Lin has 2 lolly-pops. How many 

do they have altogether? 

 

To access the 4 complete worksheets (including answers) with 10 

questions on each, at these levels of difficulty: 

  numbers up to 10 

  numbers up to 30 

  numbers up to 100 

  two-step problems 

 

visit 

http://www.saveteacherssundays.com/maths/year-2/124/addition-and-

subtraction-word-problems-ks1/  
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